Calculating Centrip Accel February, 2019

g's measure acceleration

not force!

1 g =10 m/s’
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Centripetal Acceleration Equation

Vi

dc =
r

(Then divide by 10 if you want to convert to g's)
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The vulture is circling once every 10 seconds.
The diameter of the circle is 20 meters.

a) What is the vulture’s angular velocity?

b) What is vulture's tangential velocity?

c) What is vulture’s centripetal acceleration?
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| et The vulture is circling once every 10 seconds.
The diameter of the circle is 20 meters.
R a) What is the vulture’s angular velocity?
~—20m—— angle 21 radians
angv= ", =
time 10s

b) What is vulture's tangential velocity?

V;= (ang V)(radius) = ('IT)(10 m) =6.28 m/s
3}

c) What is vulture’s ;fntripetal accelera%t-)n?
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Ed, Fred and Harvey are spinning 3 times every
2 seconds. Harvey is 0.3 m from Ed.

a) What is Harvey’s angular velocity?

Try it!
b) What is Harvey’s tangential velocity? .
see if you get:

a) 31 rad/s

c) What is Harvey'’s centripetal acceleration? (How many g’s is that?) b) 2 ] 83 m / S
c) 26.6 m/s®

(2.66 g's)

d) What are the answers to a, b & ¢ for Ed? (No new calculations required.)
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